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e ES 154,500 134,500 20,000
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OAZ2ZFANE 85 50,000 30,000 20,000
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& AYEEUs A& 924,000 900,000 24,000
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= 24,000 0 24,000
< 400,000 400,000 0
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= 24,000 0 24,000
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= 66,411 82,100 A 15,689
= 2,073,364 2,089,053 A 15,689
2B ZAY 1,132,822 1,164,200 231,378
= 66,411 82,100 A 15,689
& 1,066,411 1,082,100 A 15,689
101 el ] 132,822 164,200 231,378
= 66,411 82,100 15,689
= 66,411 82,100 A 15,689
10 JIZtHIZ2ERHEES 132,822 164,200 231,378
O] 117,902 149,280 231,378
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= 62,969,760 1,156,050 61,813,710
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01 MHXSHHZABES 2,455,200 0 2,455,200
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= 24,600 0 24,600

= 5,400 0 5,400

01 el 30,000 0 30,000

O LY2E2T2ME FA(LYH) 30,000 0 30,000
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